
 

 

 

 

 

 

 

 

 

නිපුණතාව - ත්‍රිකකෝණමිතික සර්ව සාම්‍යයන් හසුරුවයි. 

 

1. පහත සර්ව සාම්‍යයන් සාධනය කරන්න. 

(i). 𝑏 cos 𝐵 + 𝑐 cos 𝐶 = 𝑎 cos(𝐵 − 𝐶) 

 

(ii). sin (
𝐵−𝐶

2
) − (

𝑏−𝑐

2
) cos (

𝐴

2
) 

 

(iii). 𝑎 sin [
𝐴

2
+ 𝐵] = (𝑏 + 𝑐) sin [

𝐴

2
] 

 

(iv) 8 sin A cos A cos 2A cos 4A = sin 8A 

 

(v).  
1−cos 𝐴

1+cos 𝐴
 = 𝑡𝑎𝑛2A 

 

             (vi). 
sin 4 𝐴

1+cos 4 𝐴
 = tan 2A 

          

        (vii). 
cos 𝐴

1−tan 𝐴
 + 

sin 𝐴

1−cos 𝐴
 = sin A + cos A 

   

         (viii) 2(𝑠𝑖𝑛6𝜃 +  𝑐𝑜𝑠6𝜃) = 3(𝑠𝑖𝑛4𝜃 +  𝑐𝑜𝑠4𝜃) + 1=0 

 

          (ix) 
sin 4 𝜃+sin 8 𝜃 

cos 4 𝜃+cos 8 𝜃 
 = tan 6 𝜃 

 

          (x).cos 2 𝜃 = (𝑐𝑜𝑠4𝜃 −  𝑠𝑖𝑛4𝜃 
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